ME 138=F OIH}HX Al R
=2t 6 i1 0=
(201812 711 ZF] S|-—oT = Y= 3k LS
s somz |19 ] 165008 4008 Fus4d e 280 ZDIE Tanznsnea
(30.000% &) 29 6,300& & 180 | = | XI= A5 (REsEa+s) 10A1108
3% 4,200& & 1108 = (=6) 1:02.9 0:59.1 (53.0,19%)
1000m Ql — = (=13 AI 2k
= 49 1,800& & 308 8 AN E(2EH+2 A 1:02.8 0:58.3 (56.0,19%) - = =
G sS28r gy 120089 105 HE2(= 400 | 1:029 | 059.1 (53.0,19%) 11A002
T ) = =] S\ = . . B )
10 9 & Y O AKS (m)sao(0g) [131221 36 12007R Oiion 13112536 1100 2R 0KG%  [130929 36 12002R OIS [ 1309063R & &l A 1000 814%
DAMZSE  1:165 500 AR(4) |D BHIBEAI 1:09.7 540 FH(2) |DIARSUE 1:146 530 BS(2) |D 74HE0l  1:04.3 53041 M S
3HI(110301) B o 2y SAH1895(90%) /11505 |@ 1FIOIE  1:16.8 530 AS(1) |@10EEA0l 1:097 530 Gl&d(1) [@ 92l®  1:14.6 530 TH(4) |@ 22@HSHY  1:055 53042 24!
(R)2ALABR)ZRIEITAE | SHEOK 0R(0/0/0) @5MHOHE  1:17.0 550 A9(6) |® BMOIALA 1106 500 BHE(5) [@ 8=2ro/d 11150 500 &5(3) |@12521 =2t 1:057 530 #&
= 4H:3(0/0/0/1/0) /1800F & ut3 5(155')19'111%' @ 9AICE 1:18.4 530 HE(11)|@ 40K Y 1:11.0 530 AS(6) |@IBHSE  1:153 530 QA1) |@ 9=oert 1057 520 OIS
TEEEA 01E: 30" 63I1802(2) /1 52 ®32s 1188 530 $2(3) |® 2BEISEl 1111 530 SHE) |O110#Z 1158 490 HE(14) 6 4BLUE 1058 53041 =45
EW: 5% /52919 4%%&505405}?\ ®IHHMES 1188 540 S2(2) |@112SSH 1:112 530 ARA@3) |® 2A4HE 1162 530 M (5) |® 52612 1:06.0 53042 40|
IAHES; EUE 4R S) @ 60IIZE 1200 530 AS() |@ IAHOIA 1112 530 S2(4) |D120i2BY 1174 530 A5(12)|@ 0AY 1063 530 S
2 7124:30,000 % () /(3E) M 21l 0fl O 131221 W= 2H 3| 149-404—-139/3C270—4C463 |142—400-139/3C239—-4C38.1 |146—389—130/3C263—4C449 |142—407—144 /3C 142 —4C 321
ISPl 1312062 S 71014 T 251225 |10 0 010 911(11113) 439-13283675] 7 00 6 6 6(4/12) 452+17=256 173 | 10 0 01010 9(11/14) 435-4227.7120] 20 0 2 1 4(7H1) 439KG
HeREREEYS 1311258 = PR 2433|526 =20 z2@
20 & Bt U 2ASH™  moon [P1214=610003R oS te 131124 26 1200 6R 01 55% 151108 4R FHAA10008110% | 131025 IR FRAA 1000 814%
o © = ao OUEHABE  1:02.1 540 Q1A() |DI0AHIZ 11656 530 ZS(2) | 3SHIEY 1045 530 HZE |@ 4L 1057 530 A4S
3KI(110508) B o Y £ 0h2235(58%) 11545 @103HR S 1030 530 () |@ 7522 1470 530 9A(1) (@102 EEE 1047 53041 BE |@52A2A 1058 5304 =&
(P)NEDY D)2 S0k 0F( 0/0/0) @122&X 1032 530 22(5) |@11CHOI0FZ 1477 550 X2(6) |@ 2= MEIY 1047 530 OH2| |@ 6OIZ0I®  1:07.2 51041 OfL
= 44:2(0/1/0/0/0) /6 300 2 REETENEDE @6EZE 1034 530 Gl&(2) |@ 55+ LIOF 11480 550 RIbH(T) |@ 724 1049 49042 E4E |@ 33t 1073 530 =3
ZESEA 18019 180E | 1081832(SH)/ 210 21 ®4BCSEE 1035 530 A7) |®122HET 1181 530 01R(1)|® 4=arztel 1053 530 =2 |®12BEMY 1077 530 JI3
EW: 6% /52929 212 210306}7] ® 7IHHFLIOT  1:03.7 520 OFLK3) |® 6AEIIIX  1:185 530 OFLK9) [® 8B2S2 1059 530 013 |® 22HEHIA 1077 530 EHS
D, BMB(EHAS) D eSO 1043 530 ZH(10)| @13SHHEY 1189 530 BE(3) |© 6REMZ 10841 400+10/2 | ostEterg 53041 RE
SO B5000F RS )/ZEHS 1312162571014 Il 25 =23] |140-379-133 /3C140—4C314 |146—401—139 /3C262—4C453 |145-389—134 /3C 145-4C324 | - — — — — /3C - —4C —
o212 5 1:103.0(131214,530,16%)| 131215 x| 13] 40045 4(212)427-65120118% | 100 010 910(9/13) 433124012332 | 4 00 4 4 2(209) 434KG ~ 00— — —(94/10) 429KG
D HRITR1030 1H(0/1/0)  |131127 D= 41230 z=2@ =26 zoey
3 A 2 = XIXQ (=) 5000 131222 6 1200 4R OFBIE% 131122 1R 2 A AL 1000 7% 131026 26 1200 1R 2 0F2H4% 131011 1R FHAN1000 214%
D7mS 1165 530 £2(4) |DBASE 1034 530 3 [DoMAC 1153 530 ME(1) |DI00I0IAF 1:045 570 EH
3KI(110248) B2 2 24 S ALT95(69%) /114:24 5 @oMIUE 1165 530 B8(1) (@ 92ICIOY 1042 530 =2 |@ 702 1:16.1 530 EAZ(2) |@110/TSH 1:049 530 J|&
(2)CICIDI(2)SIEl 2101l S0k 17 0/0/0) @IS 1172 510 BE(6) |ONAESE 1055 530+1 M2 [@102EHLIA 11162 530 QI R(6) |@ 2ARE  1:050 530 =g
= AH28(0/0/0/0/1) /12008 2 HHCH & (20 ) 018t S @6HQHE 1:179 510 BH(7) |@5ZMAL 1057 530 Ol @ 1852  1:165 530 6léd(7) |@ 1950F 1072 540 A4S
ZEaEs 1018 10" 8311062 (X 2)/ 76 56 GUAZE 1180 530 () |®102+a 1057 550 &2 |®42X&It 1165 530 FH(10)|® 548121 1072 540 b
= 5% /52 &9 > S 203067 ® 84S0 1:186 540 OE(5) |® 7S0ISE 1059 530 O [® 2HEIAIEl 1:169 530 A=(4) |® 3ZTAXB  1:07.3 49042 HE
DA SUE 4R S) @ 3A2I2l 1:19.0 550 Z5(11)| @ 6012 1062 530+1 017 |@ 6AFIE 1208 520 ZAH(B) | 6=t 1074 50041 &5
YUILHA0000F H(ZON)/ZES 1401150 S A23] 143-392-133/3C 258 —4C455 |142—378-128/3C142-4C321 [171-382—128/3C 297 —4C490 |140-398—140/3C140—4C317
HgHAHD =S 131208 % X113 8005 65(512)484+132831072 | 20 02 2 1(10) 475KG 10 0 0101010(10/10) 471-6=39875] 2 0 0 2 3 3(3/11) 477KG
AR EES 131126 2 D414 3] =26 F20 FH(SES)
= 140110 3R =241 A 1000 23% 1312134R =HAIAH1000 2H6% | 131122 3R =2 AL AL 1000 87%
4 = It 01ZM 0520 @ 6CIGIOIZE  1:034 540 O} |@ 8H2EZ= 1.044 540 02} [ SEHAHE  1:030 540 A
3AI(110409) B2 2 2y £ 0h425(56%) [1:12 @ 5EHEMR 1034 540 A |@OUISA 1050 5304 =& |@ 2ADIE0 1042 53042 5=
(RN ZBE(D)H S 0F: 0 ( 0/0/0) @7ISH 1035 550 Of2l |@ 7221 1052 5304252 (@ DHABA 1044 530 A
£ 4H0F(0/0/0/0/0) 0R R ora2H26E) /HIER ® 8s0t 1035 540¢1 28 |®5=FBO} 1065 530 ol |@8AE=Y 1049 530
FESEA 0/1E: 0F SETI=(Z M) 72 54 ® 4YIOZ 1038 530412 |® 122X 1067 530 0/3 |®6=2O& 1072 530 Ol
=W 152E919 292 210306}7) DISHEBE 1042 5304282 |@4AWSH 1072 490 Z@ |@ 7T0HST 1098 490 =&
AR SYUSEMM0NESAS)  |®2HEM 1057 49042 KA | GHUOIH SX 530+2% |@UAE 1110 530 =2
YUILH30000A(ONY)/HHS 1401155 D A63] 144-400—-141/3C 144—4C321 |151—401-138/3C151-4C336 |153—-421—14.1/3C 153 —4C 350
ISR E I 140110219t 2323 6006 6 8(87) 459KG 4004 4 5(79) 458KG 60066 7(710)464KG
AR EES 131230271014 1| 2 5/ =23 s s
5IE O a A SEQFAL 540 +10) |131221 F612006R Dighot 131116 =6 1000 3R O12H7% 130908 =6 1100 3R DFeF3% 130816 4R 2 &1 A 1000 B44%
- —c — av== DBEZUO0I 1:168 540 S2(1) |D 7AEZ9 1022 530 M(1) |D G0IHSS  1:076 540 QA1) |DIOIZKAI 1022 550 0
3KI(110302) B2 2 24 SALATOS(118% /15:405  |@ 1CI0I0F  1:172 550 A8(3) |@ 524 1029 530 S4(4) |@ 2= 1082 530 ZS(4) [@ 70IANE 1042 530 A
(PEEASEH(R)SARNENE  |SHLOK 18(0/0/0) @ 8RHEHIA 1:17.9 530 25(2) |@ 4X2E 1032 530 FHH(3) |@ 720HIE 1:08.7 530 MIZ(2) |@ 3BE=M2 1044 5300224
£ 4H37(0/0/0/0/1) /12008 & PERIRENERE @4XTHE 14183 530 A9(4) |@3HSA 1035 530 FOU5) [@ 9MBIK  1:092 530 B4(12)|@ 6IHEZR  1:05.0 53041 Al
ZEEEA 1018 108 7511292 (2170 53 GUMZE  1:186 530 ol&(10)|® 8IHEZal  1:04.1 530 O|=(6) |®1322HA28 109.8 520 #2(3) |® vt = 1050 550 B
2R 5T /E2EH 212 2103067 ®TMES4 1:19.1 540 0IS(7) |® 2HS2 X 1042 500 &5(2) |® 4ASAICH 1:101 530 HE(9) |® 2AHOIA  1:05.1 53041 &4
DA, 598 B140123(, 2 S) @I2IEZ 14193 530 JIBI(5) |@ 6are 105.1 530 42(7) |@® 1HEZ @l 1113 530 A1 @ 1271%2 1054 520 01
90F24: KFOHA AF(H ) 12 S AL 1312232 M3E+Z B2 213 [141-403-137/3C259—-4C458 |139-390—140/3C 139-4C313 |139-407—-145/3C233—-4C377 |138-402—148/3C138-4C310
N HRIE D:104.1(131116,5307%) [13122201 K41 TIOFOIR18] | 60067 8(8112)445-11264 1112 | 2002 2 4(58)456+42552032 | 500 4 5 6(8/14) 452+0=57 1332 | 10 0 1 1 3(49) 452KG
AL HRIH R 041 1H(0/0/0)  [131116FMISL BBt 13 |26 z2® =26
xl = o 131215 26 1000 2R 0FEH15% 131115 3R =3 &1 AH 1000 2+9% 131108 4R =4I AF 1000 2H10%
23l = BT (=)%A0 DEOFAIER 1034 530 AIE(2) |DBMEX 1023 540 &5 |D3SHIE 1045 530 ==
3MI(110327) B2 2 2 SLHBOTS(166% /1575 (@ 2BSIA 1034 540 HH(6) |@10ME=AL 1040 540 SA |@103EEY 1047 53041 BE
()2 012 0l(2) 2 LI 2 2] At G0k 18 0/0/0) @5=n 1034 530 SH(1) |@9==HE 1045 550 T4 |@2=FEIY 1047 530 of2l
£ aH18(0/0/0/0/0) 0R R NSB(ME) HAAL(ET) @ 0ISCITH 1034 500 SH(5) |@ 4REWE 1055 490 JIQ |@ 7= 1049 49042 EHE
ZEEEA 019 08 1031872(215,2) /7885 |® 9MAXE 1035 530 14(10)|® 22EHE 1057 530 AIM |® 4Zar22] 1053 530 =8
= 6% /52 a9 19 ~ 92 203l0HH ®10212tH5t 1:039 530 MI(7) |® 1AIEIA0l 1072 530 HE [@®82S=# 1059 530 0IR
DA, susa: @3EENE 1049 530 AS(B) | 6222 =X 53041 EH (@ EREME 1081 490+1JIR
291 24:30,000 % () /(=) M 1 0l 01312182 S 7101 & [ 251 =45] [139 -394 139 /3C139—4C320 |146-392—136 /3C 146-4C 328 |143-426—158 /3C 143 —4C 321
S 212 1:104.9(131215,530,15%) 13111658 D= = D AH 3 4004 68(910)443+3256 1165 | 4 0 0 4 4 4(419) 440KG 2002 2 8(919) 449KG
AL HRIH R 1049 1(0/0/0) | 131108 Z BHAH 3| F26 sy
EREEL SEA T (£ 540(00) gomsaelzoommgu% 131207 61000 2R DF2H10% 311085R FWAIA 1000 8110% (131005 261200 2R DHH%
@ 9CIOIOHTH 1:165 530 (3) |D 520IRM 1033 530 &IA(1) [ 3MZE 1032 530 A |DOOIELE  1:145 530 A3(1)
3MI(110505) B2 & S2N SLRTAS(38%) 14 @5BSZ01 1171 540 () |@32TE2 1045 510 #5(2) @ SME2E 1044 540 =2 |@ 1ZAHIO 1:158 530 52(2)
(2)SLHEND)OIAZAEHE SOk 28( 0/0/0) @BHSA 1177 540 QA |@ 1ZTAT  1:052 530 OFLH6) |® CHEIZE 1046 5304 =5 | @ 3ULM=  1:158 530 A (3)
= 44T (0/0/0/1/1) 13000 F & LS (528) /2L @ GHEIZH 1:7.8 540 £5(7) |@ ANYES 1053 530 HE(3) |@ A0LUBH 1049 530 AF |@102H0F  1:159 530 =& (8)
ZEEEA 4013 408 BE189E (B A= E5) /1551 |® 7TIIA% 1181 530 2H6) |® GHEIZE 1053 530 £5(5) |® SHAST 1049 570 HZE |®8AHBID 1165 530 A7)
E e BRI 9220306+ ® 8BS M2 1:18.1 530 dlA(4) |® 20r=HIA 1054 530 AB(4) [© 104EZ 1052 530 OIF |® 7BEM2l 1:173 530 B (4)
DA, SYEAMM2EEYS)  |DIEYE 1196 540 SH(@) |@ THAEZ 1054 540 015(7) |@ 22010+  1:054 530 tH |@ 2REIZA  1:19.8 530 S2(11)
22 35000F FONE) /LR [140111 2501014 T 23 =15] |141-395-137 /3C 256-4C450 |143-393—134 /3C 143 -4C328 |142-389—-135/3C142-4C323 |147-403—142/3C 267 —4C458
o4 21 21 5 1:105.3(131207,530,10%) | 1401052 D AH3 3] 300345(40)477-55642602 | 50056 6(57)482-4=232002 | 300 3 3 2(30) 494KG 120 0111212(12/12) 486+4 =33 173
A HRIHZ:1053 18(0/0/0) | 1312081 £ 13] F2E FoxHE) =2® F2@FA(SHS)

Mg 13F [2014.01.25]




8+ H=Y

3HI(110209) 8= b zra

MAEX(D)MES

&F:33(0/0/2/0/0) /8400 % 2
SEA 2014 2208
Nz /s2e9:29

(SRS

&
b
LIFA40000F A(HE) /LA &
HgHelzln

O &My MO Jp

:1:02.3(131109,53.0,7%)

SMY =) 5000

131109 =26 1000 2R O+&{7%

13101236 1000 1R DF2H11%

135-383-139/3C135-4C300
100112(311)451+15621542

135-382—-138/3C135-4C303
100 112(312)450-16525.1213&

130914 336 11001R OIS &

130726 3R ==& &l A 1000 8%

@ 8224 1:01.2 530 S=(1) |D25=2%  1:02.3 530 25(6) [D14HAEZ 1085 530 01&(3) |D11IIZ 1:026 570 ENS

SAh27TS(187%)/1E:1215  |@ 12129 Z 1020 530 SE(3) |@11224] 1:02.3 530 S3(5) |@ 12RIYA  1:087 530 01R(2) |@12¥ I T2t 1.026 560 JIS
SHE0F 0R(0/0/0) ®24HF 1023 530 S2(2) (@ 4AHFY  1:02.5 530 YF(4) |® 7AHOIA 1.090 540 =4(9) (@ 2ATHFLY  1:03.7 530411 }{E
ZZR(8E)IEAHHA @ BIH2AE R 1:02.4 530 ZA(5) |@124BAIZ 1:02.8 530 H&(1) [@O13-ALCI  1:09.3 530 241(12)(@ 6HO0I01&  1:04.3 520 A
11312352(2,52)/71052  |® 45LF 4 1027 530 F(7) |® 8EEY0l 1:032 530 3l&(2) |® 42 1:09.3 540 &8(1) |® 9S-I 1:046 530 =2
= 2 ®1001101 T/ A 1:03.0 530 OI(4) |®10H0IH  1:03.8 530 = (7) [ 9HEIZ  1:10.8 530 H2(14)|® 30t2tHIQF 1:058 530 H=E

@ BOHAXIZ  1:035 530 A&(11)|@ 7THSHAL 1:042 530 =H(8) |@ 2% 1:10.8 530 J&H4) |9 82HL 22 1:.065 51.0+20tLt

134-412-149/3C228-4C366

100 113(12114) 466+3585246 =

139-387-138/3C139-4C312
4004 3 3(312)463KG

GHE HRIE 1024 28(0/0/2)  |131115KE 22 X Al63] ZEOFYFHE) F=20) F=206
== Al 131215 =26 1000 5R 0+ 215% 131129 1R =2 A1 AL 1000 2H17% 131101 2R = AL AL 1000 BH4%
98 EH "'I HI d @OlﬂE (En 510000 @ B2EHLIA  1:02.9 530 &tR(2) [D 8SZE 1037 530+1 MY D 421dalA 1059 530 &
3AI(11.04.04) Bt o BHa S 0H285(110%) /112:285 @62 1:035 530 MY(1) |@ 5S4l 1:03.8 51042 &5 |@ 3=X 1062 530 =&
(R)HEEH MYS)ZH4 2 o 20k 1&( 0/0/0) ®32URE  1:03.7 540 HE(6) (@ 9HEMOl 1038 5304222 \s 8L ST 1064 530 =
S &H:AF(0/0/0/1/0) /1,800 % Sy(5E) ISEE @ 222H$Hl 1038 510 &5(4) |@ 72225 1040 530 =2 |@NALHIT 1:064 530 OiLt
ZEZFS 30/14: 30F 931342 (& 5) /79 31 ® 40101 AZ  1:04.0 530 EH(3) [®102RIYA 1:042 530 &l <5>wtm¢§u 1:06.6 530 O
ERSHEIEE R A ER03/06H ®10LE2 X 1:04.0 550 RZE(9) |® 10H2RAE 1054 530 A [® 2 ey 1071 490+2E4&
DBHEH: SUSR40123(RH5,23) (@ 9Y2 A 1:044 510 OFLKT) |@ 20HEAEY 1:059 550 Tz | 10ZeH4iHl S 50041 &35
I} 200008 (L) /L =8 131216 D S 4H235] 142-385-136/3C142—-4C316 [139-386—133/3C139-4C316 |155— — —-830/3C155—4C 359
ol & 1 21 21 1:1:03.8(131215,51.0,15%)| 130928 & X113 50053 4(4/10)460-624 367 = 20021 1(2111) 466KG 7007 9 9(920) 459KG
e Hel B R:1038 1X+(0/0/0) =26 Fusy
R t_'."g-‘?r 54,0(+.0) [131130 =6 1200 2R DF15% 131006 61200 4R O} 846% 130831 6 1100 3R DFB{10% 130809 1R Z=24 Al AH 1000 2}10%
= OUAHET 1:14.9 530 &48(5) |D5ZEHE 1155 530 S2(1) | 3HAIOIE 1103 530 FA(5) |D IAIEIE  1:022 570 2
3HI(11.0405) Bt=2 £ =2 M S4h645(69%) /14:05 @100101T1 A 1:14.9 530 0|2(4) |@ 1HHIBI 1156 530 012(2) [@ 1MBAL 1106 530 =Z(8) (@ BHIAER 1043 520 &<
(RESM(D)HH2LHL o 20 0&( 0/0/0) @122 1151 530 AIZ(2) [® 22 DU 1163 530 =Z(6) [® 55tLIGIEH  1:106 530 Z2(1) @ 42 L0 1:045 530+1 M
S 4H:3F(0/0/0/0/2) /2,400 % & S TH2(50E!) /Ol EH AL @358 1:16.0 530 EH(1) (@ 7TASAI 1164 530 HZ@) (@ 79SS 1:109 530 ©S(6) (@ BBESZ  1:04.9 530+1 2R
ZERHS 20/15: 20% 1031150 2(2 &)/ 78 &2 B 6RAIZE 1160 550 FA(14)|® 62EZ2  1:16.8 530 BE(7) |® 42E22 1114 530 01F(2) |G 22X S22 1:052 540 &
EM 8F /&S S HER03/06H7 ® 9UE X 1:16.2 510 3HH(9) |® 8GR 1:17.6 530 AS(3) |6 8BSM2l 1:118 530 LA (4) |® THIZAL  1:06.0 530+2 24l
BHEH: SUE: @TESESE  116.2 530 TA(7) [@ 48TIAR 1194 530 QA(5) (@ 2=2A8 1118 530 &8(7) (@ 6=AS  1:062 530 &8
I} 24:38000 & | () /2 B EH 1312312 =01 018 T 2351233 [135-394 141 /3C242-4C431 [137-410-144 /3C243-4C422 [137-412-138/3C230-4C378 |140-399—142/3C140-4C314
HeAHRIZDII=US 1312112 15 20011 3(7/14)463+182289250=| 30011 1(58)445+16=57522 | 30026 8(58)429+7=770732 | 1001 3 2(4111) 422KG
SRR EES 1311052 M3E+ 2222163 [F20) F2@ ®AAFH
1100 1o M 2,' 0]0H 54.0(0.0) |1401032R FEA A 1000 2t4% 131220 2R =S & A 1000 B110% 131213 2R 8 &1 AH1000 216%
@D 721SAIA 1030 530 EHE | 4THAIZE 1:040 4904108 |D83LUEY 1:023 5304152
3HI(11.0401) BH2 £ =2 M E4H5525(48%) /1922 @ 1245101 1:036 540 SA |@3IRIAIH 1046 5304182 |@102I1SAIA 1:036 530 EHS
(S)H S0l = S(2)0ll 1 5H01 0f ﬁH‘ém 0%(0/0/0) @ AIEIHIOl 1:04.1 540 HZE |@6HZOIE 1:049 53041 =& |3 QOtHIUIGI 1:03.7 530 Ol
SA&H0&(0/0/0/0/0) /0 & AAI(28E) 10171” @ULUHIZE 1:06.0 530 dl& |®9HABE= 1:062 530 4 |@5AHEH  1:050 490+1 02
2ERES 014 0F 8§I 442(0H2]) /76 &2 ® SHLAY 1060 540 =Y |@®22TAUE 1062 530 olMd |®2=F=  1:056 530+2F&
BT S E03/06H R ® 6RMEF 1071 530+1 82 |@ 1I2EZ 1062 530 EHE (@ 7MY  1:085 530 OHal
BHEH: S SA31205(0021,25) [@22tAEm 1:098 500 DR |@ 7AHIIMIE  1:084 530 OHEl @ 123t 1096 530 O3
LI} 200008 (L) /B M & 1401032242433 148-397-137/3C148-4C328 |148-414—145/3C148—-4C335 |148—418—145/3C148-4C335
EEEPICEIniplEtt= 1311152 DA 3] 50055 4(50) 432KG 800 8910(1110) 443KG 6006 6 6(6/9)446KG
HEHRI B HEUS 1311145 X135 sa01g saE0g

A ol 131220 1R =84 A1 AF1000 2410% 131122 3R = & AF1000 S47%
12 29{EDHAH DRAINIE €00 DIOAMECH 1049 530 s |D AR 1030 540 QIR
3KI(110318) B2 2 5| SAH1E40% /1E:15 @ BASIEIM 1:051 490 JI® |@ 2ADIEN 1:042 53042 =2
(R)ILAEX(L)HICIEDt2| OF ol &0t 0&( 0/0/0) @ 9 L= 1057 53024 (@ 1L 1:044 530 &=
£ H0J(0/0/0/0/0) /0R R S (358 /2 Al @1AHSZE 1062 53041 =4 |@BAEZY 1049 530 7t
Z2EFES 0/14: 0 731392 (& 1) /1753 GUEAUE 1065 53041 =2 |G 62228 1:072 530 Ol
EM 15291 PS030 ® S5XIEl 1:069 51042 &5 |@ 7LHSIH 1:09.8 490 =d
DA, SUER4012801R,25) D TMIZ 1075 490428 |@TIASIEIN 1410 530 =
L4oHA 2800053(7)‘1%‘) (F)2ASH 14010840 S13] 141-397-136/3C141-4C319 [159-421-140/3C159—4C 36.1
e HeIZDIIZEASE 10011 1(210)454KG 800 88 8(8/10)459KG
e HelB R m e sy
A2 13F [2014.01.25] =20t 3 E MK EtEAl Ot S 2&6HAID| HH&LICH.




